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Time allowed for the test: 50 minutes
HIBZEFRE - 50 o35

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36
Answer ALL questions.
Write your answers on the answer sheet.

Write your name, class and class number on the answer sheet.

o k~ N

You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.

6. You can use a pencil or a black/blue ball pen to answer the
questions.

7. The use of calculator is not allowed.
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Note: PER

Not all diagrams are drawn to scale. LB A B F o
SECTION A (60 marks) v 2R (60 4)
Choose the correct answer. You only need to EN DRk o B4 NUEHE P AREE %
write down the letter preceding the selected FhE e A o
answer. '
1. What is the least number to be 1. 7642 &> &4+ 554 F - B
added to 7642 to make it a 5-digit I =H#?
odd number?
A. 2358  The smallest 5-digit A. 2358 & ehT = H #E_10001 °
odd number is 10001. Bob B A b
The least number to 10001 — 7642
l 2359 be added is l 2359 =2359
10001 — 7642
C. 2459 =235 C. 2459
D. 3468 D. 3468
Magazine Subscription Plan
sessiTH 3
Price per magazine Total number of magazines subscribed
xS T BRTHEE
$20 15
2. There are 27 students in Class 204A 515 27 £ 5 2 o ok 230
4A. If all students subscribe e A SR Y oal s &AW
magazines according to the IR R

above plan, how much should

they pay in total?
l $8100 They should pay l $8100 TRy %
20x15%27 20%15%27
B.$540 1 B.$540 %100




3. Each box can hold 32 bottles of
coke. A convenience store has 310
bottles of coke. How many boxes

does it need at least in order to
hold all the bottles of coke?

A. 11 310+32 =9(boxes)...22(bottles)

It needs 10 boxes at least.

B o

C.9
D.8

Bt O30FgT # s BT RS
G

L7 rr = 22 L 2
C g+ A T R R AT 2

A. 11 310+32 =9(#)---22(¥%)
UG R 10 B -

C.9

4. A company will distrubute 4
notebooks to each of 164
employees. But it has only
prepared 500 notebooks. How
many more notebooks does the
company need?

A, 1 156 The company needs more
4x164 - 500

B. 656 = 156(notebooks)

AAZedm o e REE T
500 A o P RT R
¥ it A?

A. 1156 #ordgesei
4x164—500

B.656 - 150(%)

5. Find the H.C.F. of 56 and &4.

A 4 2156 84
2128 42
B.14 714 21
2 3

l 28 The H.C.F. of 56 and 84 is:
2x2x7 =28

D. 168

5. %56 v 84 S H.CF. «

A. 4 2|56 84
2028 42
B.14 714 21
2 3
l28 56 - 84 ch H.C.F.E_:
2x2x7 =28
D. 168




6. What is the result of adding up all | 6. F= 44 975 Fl#HcAp 4v 5 % A

the factors of 44? 509
. 84  The factors of 44 are: 1,2, 4, . 84 445t 10204011
11,22, 44 22 5 44
B. &3 The resplt of adding up all the B. &3 “rh FHAR S e % 2
faitir;i4+11+zz+44 1 42+4+11+22+44
C.69 g, C.69 -84
D. 39 D. 39

7. There are two parallelograms of 7. TRIAS B g T e

the same size. If each E WA 0 drk =& B Eﬂi

stands for 1, what is the value of 7
the sum of the shaded parts? B

Vv vOy=—=

3 3
A. g The value of the sum of the shaded A. g P B3R Ap e i8N A eniE 2

1 parésis3 1 iJri

6 3 8 8

B. & + B. &+

2 81 8 2 L

3 =17 3 8
C. 8 C.

4 4
gL gL

8 8

8. Which of the following has the 8. T AvR— 3F gk L ?
largest value?
A.554+5+0.05 A.10.55 A.55+540.05
B. 60.1
B.55+5.05+0.05 ]C)'. gggg B.55+5.05+0.05

@ 55+5.05+0.5
D. 55+0.5+0.55

@ 55+5.05+0.5
D. 55+0.5+0.55




9. What is the result of multiplying 9. B g X fHcfok & dd
the smallest composite number Biph R A7 00

and the largest 2-digit prime

number?
A. 198 The smallest composite A. 198 e 2dcd 4
number is 4. B oend A 97 o
B. 291 The largest 2-digit prime B. 291 4x97 = 388

number is 97.

l388 4x97 =388 l388

D. 396 D. 396
} 0.5L
10. In the above figure, how much 10. v B> FE?P 5k35°7

water is there in the container?

A. 875mL 0.5L=500mL A. 875mL 0.5L=500mL
There is FEE 4K
500+4%6 500+4x6
l 730mL - _ 750(mL) l 750mL — 750(mL)
C. 625mL C. 625mL
D. 125mL D. 125mL




11. What is the sum of the smallest
and the largest numbers that are
divisible by 3 between 3500 and
38007

3501:3+5+0+1=9,
3501 is divisible by 3.

11. % 3500 & 3800 2 [ » se 4% 3
B el o X a2 fo il
509

13+540+1=9>
3501 ik 3 g -

3501

B. 7300 3799:3+7+9+9 =28, B. 7300 3799 : 3+7+9+9=28"
' 3799 is not divisible by 3| ) 3799 # ik 3 % -
3798:3+7+9+8=27, 3798 : 3+7+9+8=27>
C. 7301 3798 is divisible by 3. C.7301 3798 i At 3 ;gxf o
3501+3798 =7299 _
D. 7302 D. 7302 3501 +3798 = 7299
P . _ _ o, P .
12. If 9 s converted into mixed 12. a‘ga‘u LA Al A Ak
. 4
fraction, it is between 25 and fy I 2 9 Fe 2 8 —2_ R o T F|vR—
8 . .
2?. Which of the following is i #H a KP E ?

the possible value of P?

A. 20 4 22,8 26 A. 20
9 9°79 9
22 P 26
B. 22 5 <T <% B. 22
22 <P<26
| BE - EE
D. 27 D. 27
v 56 v . v 56 v
—_— - —_— = —, A - | /):L o y
13.If9—‘and9|san 13.41\7%9-’ fgz;—\l?/wﬁé;
improper fraction, what numbers PR wAce T i AP Rl 9
can ¥ and ¢ be?
4
A ' 4 ¢ = 126 % %,aproperfraction. A v= 4 ’_ 126 % = Ev VAR :'d
B. ':7,0:72 B. % % aproper fraction. B. =7 > ¢ =72 B. % = %’ S - 3
vy 14 56 c Yy _14_536
C.v=14 ¢= 32679 "9 3 C.v=14> =329 "9 "3
b Y _28_ 56 b Y _28_ 56
Blv-28e=-18"7 o s Blv-28.e=18 7 °
BATALAIR B 5 (] 4) 7



14. The weight of a baby is 3.25kg. A
nurse wrote it as 2.35kg by
mistake. What is the difference in

value between the two 3’s?

A. (0.27 The difference in value
between the two ‘3’s is
3—0.3
B.07
C. 13

B2y

14. B s2enf & 8 325kg» L 4
BA235kge A B M3 i
i S

A.027 =@ "3, e
3—0.3
=27

B. 0.7
C. 13

B2

1
15. There are 23§kg of apples in the

5

fruit shop. The peaches are 5§kg

lighter than the apples. What is
the total weight of apples and

peaches in the fruit shop?

5
I 40§kg The total weight of apples

and peaches is

5
B. 41¢kg 23%“3%_5%

5
3 =40~ (kg)
C. 505kg ’

7
D. 51 8kg

1
15. K% B3 % 23gkg > 0
5
%F!J::";t/') 5§kgo 7&%}}@#? ;EFIJ:
%’ff”}?f‘é—:&’- ;’,’7 ! ?

5
I40§kg I L

1 1 5
5 23§+23§—5§
B. 41 g kg =40%(1<g)
C. 50§kg
7
D. 51 3 kg




16. Jack has 29 $5 and $10
supermarket vouchers altogether.
They are worth $190. If Jack has

11 fewer $10 vouchers than $5

16. #4275 85 {r$10 Az Bk #
%4295k > v PR ESI0 -
ho % #AL R$10 R Kot §5 ik
*ES A% B85 K

k)

vouchers, how many $5 vouchers bR ?
does he have?
A.9 A.9
$5 vouchers ’ ‘ 29411) $5 & # a,.g\’ ‘
B.1 oy [ vouchers B. e [FOOTIDE
$10 vouchers L 11.vouchers; 10 kx5 | T
20 20
He has 8 4}, $5 AN ;’g;\
29+ 11)+2 29+ 11)22
D. 25 = 20(vouchers) D. 25 — 20(3)
Scm Scm
Scm Scm
sem V _ V
S5cm Scm

17. Which of the following figures
can be formed by using 4
isosceles right-angled triangles as
shown in the above figure?

I. trapezium
I1. rectangle

I1I. parallelogram

A.landIlonly ¢ %
B. II'and Il only —

- RN
T, m

C. I and III only
Bl1 and m

17. * 2 BEELE &= £3) > 4o}
Bl#Fom 0 7 e 1T IR ]
24 9
L 47

1L £ = 25

L & 7w 187

A 53121
B. £ 4 Il 2 I
C. ©4 12 II




18. Which of the following 18. T 7|oR3E /it B 3t w 1B A ehdy if
descriptions about quadrilaterals & E_FE 7

must be correct?

I. All squares are rhombuses. Lo#75 & 325 % & %7
II. A trapezium must have right I 34— 235 2 &
angles.
II1. There are four equal sides in a I & = A f4p %

rectangle. IL. D

l I only 1. l £l
B. III only B. © 3 II
C. I and III only C. 3 12 I
D. I, II and III D.I~1I % III
‘ ) 6em ( ) 12em
( ) 6cm ( ) 15cm

19. Which of the following triangles 19. # WP HP A7
can be formed by using three of 1T URAE = 459
the above wooden sticks?
A. equilateral triangle A FH= 47
l scalene triangle l ERE St I )
C. isosceles triangle C. %= &7
D. isosceles right-angled D. %3 &= &7
triangle A LG ZEERADE A
A. There has not three wooden sticks of the B.6+12=18> 18> 15 ¥ il jn =
same length. FERz A
B. 6+ 12=18, 18 > 15, a scalene triangle CirD.6+6=12-12<15> %+
can be formed. DRI & A A P

Cand D.6+6=12, 12 <15, an isosceles
triangle can not be formed.

B ATIEANH E L (] 4) 10



20.

v
o/\

In the above figure, when Ken
arrives at the junction, he will
turn left and walk on. In which

direction will he walk then?

I southeast

B. southwest

C. northeast

D. northwest

S O
paf! s
= Tk

11



Bank Railway| Station Park
4l A b o
N
School Kiosk Supermarket
5 Ly A AP B
21. If the Railway Station is in the 21. oSl b 8 % ad At
northeast of the Kiosk, what is in o AR ka3 B
the west of the Railway station? > 9
A. Bank A. 825
B. Park B. 2 [
l School l g
D. Supermarket D. 42 %7 ¥

22. The perimeter of the rectangle is 22. £ 3 A5e0% B H_36cm e ek £

36¢m. If the length is twice the BERBRM2E 5B ES A
width, what is the area of the G fFAE_F D7
rectangle?
A.36cm?  The sum of the length and widlth of A.36cm? £ AR RERAEZ o
the rectangle is: 36+2 = 18(cm)
2 36+2=18(cm) l 2 EREMRS2E - HIER
l 72cm The length is twice the width,|so the 72cm f RAEZ2Z eI BRI -
5 Sum of the length and width i$ 3 £ A hB AR
C. 162cm” times the width. C. 16201112 183 /6(cm)
The width of the rectangle is:

F,"' q/m\]f

D. 288cm? 1873 = 6(cm) D. 288cm? (6:2)x6 = 72(cm2)'

The area of the rectangle is:
(6x2)x6 = 72(cm?)

BATEIH 5 () 4) 12



23. Which of the above figures has the | 23. 2 } vR i ]2, 0% R § &

shortest perimeter? 17
AW W>X>Y>Z AW
B. X B. X

C.Y
B B-

24. In the above figure, what is the 24, F @Y o RN dn fF A S
area of the shaded part? 59
l 54001112 The shaded part occupies 1] l 54Ocm2 R £ ik 15 B3 o
-7

—

squares in total. L Hm fE

B

=

2 The area of the shaded part |s 2 6x6x15
B. 648cm® 7T P B.648cm™ _[ -
, =540 (cm?) )
C. 756cm C. 756cm
D. 900cm® D. 900cm?

B ATALAIH B 5 () 4) 13



34m

A
\

t 3m
Garden
43—; ?:]?1 ;; 20m
: 3m
25. A rectangular garden is in the 25. - tg& 34m > B 20m & > A

centre of a piece of rectangular 2y By - BRI
land of length 34m and width 20m, 4o b Bl#Tor o -] m",f ¥ ‘}% #
as shown above. The weeding fee 5 T3 K822 “,f iy ZEK N
for the garden is $22 per m?. What *H 509

is the weeding fee in total?

A. $392  The garden is (34—3—3)m lophg and A.$392  #FE£GB4-3-3)m>

(20—3—3)m wide. B(20—3—3)m-
) The total weeding fee is B. $6336 7% duni v AL
B $6336 22%(34—3—3)x(20—3—3 $ T22><(34*3*3)><(20*3*3)
l $8624 S50 l $8624 58624
D. $9680 D. $9680

26. The above figure is formed by 21 | 26. *F Bl &_d 21 i = -] 48 e et >
squares of the same size. The area A s BB E A G ff AL
of one square is 36cm?. What is 36cm? - v+ @A e 25
the perimeter of the above figure? S

A.60cm 36=6x6 A.60cm 36=06x6
The side of each square is 6¢m. £ > A0 & 4 6cm o
The perimeter of the above figpre is l L EAs e R E

B 120cm Thepemeo 120em ! W
=120(cm) =

C.252cm C.252cm ~ 2™

D. 504cm D. 504cm

BATRAH E X (] 4) 14



L O

A

32cm

27. The above figure is a rectangle of | 27.
32cm long and 16cm wide. Jane
cuts along the dotted lines and
divides it into 8 squares of the
same size. Then she puts 6 of the
squares together to form a new
figure, as shown below. What is
the perimeter of the new figure?

v

T BE - BE 32cm > B 16cm
hE Ao G nm A T A
= 8~ ARl e 2 A
T HP GBI AHEF -
BATERA > T Bl AT o BB
AR R A 7

A AN

N A

A. 48cm The perimeter of the new
figure is

(16+2)>3>4
B. 64cm  _ 96(cm)

A. 48cm & ®ATEA % K AL
(16+2)>3>4

B. 64cm = %(m)




Number of Rooms Rented in a Hotel in the Past Five Days
X ‘)f])}-i@—i T 24D 5 o d
Each stands for 1 room
& B {r} AR

A RATARA

A RATARATARA
R RATARA)

Pl IEARARARA

HEAEAEARARAEAEAEN)

28. If the rental fee of each room i1s 28, k& L gt ?’ —EL 5
$150 each day, how much could 2 $150 > 7R ﬁ—i = fed
the hotel get from renting rooms N E T I
in the past five days?
A.$750  The hotel could get A.$750 @i
150%(4+6+3+4+7) 150%(4+6+3+4+7)
B. $3450 %0 B. $3450 ~ 9%
B s3600 B s3600
D. $3750 D. $3750




Number of VVehicles Passing the Toll Station Yesterday
PEX % 5@»]( Hend Lk

100
£ %0
QN
5& 70
Z o= 60
°® 50
S & 40
E= 30
z 20
10
0
Coach Private Car Taxi
E E’ T L e sl
Types of Vehicles
LRk
29. How many times of the number 29. PF X ST f s fmit i
of coach is the total number of L@ dENG P9
vehicles passing the toll station
yesterday?
A. 3 The total number of vehicles A. 3 §iBfcqo? il
passing the toll station is 70+60+95+75
B. 4 70+60+95+75 B.4 =300(i)
l =300 l 30060 =5
300+60=5
5 5
D.6 D.6

BOATALAIR % (] 4) 17



30.

Sales of Juice in the Past Five Months

LT B R E

900

800
~ 700
S~ 600
NI
g~ 500
5% 400
=3
S5 300
B 200
<
n 100

0
January February = March April May Month
— -3 B 7 7 7 LINES

The employee wanted tousethe | 30. & f &% F Bk & 12 7
above graph to show the sales of B2 E i g ek Letk
juice in the past five months. g feT Pk A E o o
However, he forgot to indicate wilEd TR R E

the sales of juice in April and
May in the graph. It is given that
the total sales of juice in the past
five months was 3000 cups, and
the sales of juice in May is 3
times that in April. How many

cups of juice were sold in May?

30004 > @ & 1
e @370 &d%)
e 73

A. 300 The total sales of juice in April and May are: A 300 = * frZ * & F O 4l g & :
3000—700—600—500 = 1200(fups) 3000—700—600—500 = 1200(+F)

B. 600 The sales of juice in May is 3 times that in B.600 ~ PR A A e 3R
April, so the total sales of juice in April and e ) foT 0% g s R R
May is 4 times that in April. T4 e

l 900  The sales of juice in April are: l 900 SRt ;R e
1200+4 = 300(cups)

D. 1200 The sales of juice in May are: D. 1200 2°%*~ 300(**)

3003 = 900(cups)

T gc NER m n ﬁ
300%3 = 900(4)

End of Secion A

v 2

18



SECTION B (40 marks)

Working steps must be shown in answering
questions in this section unless specified
otherwise.

o ¥ (40 A)
AP L o B ARG R
PR3

39¢m

31. (a) The above figure is made from
nine rectangles of the same size
and same shape. What is the
perimeter of each rectangle?

78cm (Give the answer onl
S QQ 3 =13(cm)

The width of the small rectangle is:
The length of the small rectangle is: [2 marks]
13x2 =26(cm)
The perimeter of the small rectangle is:
(26+13)x2 =78(cm)

(b) What is the area of the big

rectangle? [4 marks]
26x13x9

=3042

31.(a) F Bld 4 B =] ”f A5k 4p e
E S T m A o F BE ST
% RS 2(RERNE
%) [2 %]
78cm

)& 3 A5 1 39+3 = 13(em)
£ 2560k £t 13%2 = 26(cm)
A et b Z_ 1 (26+13)x2 =78(cm)

JE

(b) * £ = 2cha fFE5 5 2
P 44

~ E
"

= 35 hG 44 §_3042cm? ©

The area of the big rectangle is 3042¢m?,

19



Vacuum cup Membershlp price

oIV
$96.40

32. The above shows the prices of the

vacuum cup and electric kettle in
a department store. Holders of the
membership card can enjoy the
membership price, but it could
not be used together with any
other promotion offers. My father
wanted to buy one vacuum cup

and one electric kettle.

(a) If my father had the
membership card, how much

should he pay? [4 marks]

89.6+205.2
=294.8
He should pay $294.8.

(b) The department store held a
promotion and gave out
vouchers of $20 each. A
customer could use one
voucher for any purchase up
to $300 or more. Should my
father use the voucher or the
membership card in order to
pay less? (Give the answer

only) voucher [2 marks]

If he uses the voucher, he should pay:
96.4+214.9—20=$291.3, 291.3 <24

Electric kettle
Tk &
$214.90

Membership price
g A
$205 ;O

32.

4.8

TEF R EET ROk
Tenhif o g DA
TEFERBoEERF AT
BHERARERY o §F 8
B LBEErfcl BT RE-
() 4% § §HEF LR+ > @

i st ? [4 2]

89.6+205.2
=29438
22 $294.8 -

(b) 7 aPFFRMEE
TR -4551% 2820 ik £
X0 “pES R $300 5 T
A K-
o iR N LR
A EgRFTA7FERERS D
BRA(RABRNER)
:;fifﬁxﬁm‘;ﬁ [2 /”\]

96.4+214.9—20=8291.3 » 291.3<294.8

20



33. Mr Wong planed to have the

lunch buffet with his wife and
two sons. The special offers from
Sunny Restaurant and

Delicious Restaurant were as
follows.

33. § A4 L 328 205

Iy p Bt o AR RIcE
RE R LT RA

Sunny Restaurant
(Cpjre Y

$228 each

Half price will be offered to
the fourth person

& +»$228
S DU A 2 E 18

Delicious Restaurant
ERE

$220 each
Each can get the reduce of $25
when using credit card for payment

& ~$220
CUME R > {0 a] 6 $25

(a) If Mr Wong’s family had the
lunch buffet at Sunny
Restaurant, how much should
the four of them pay in total?

228x3+228+2
~og [4 marks]

The four of them should pay $798.

(b) If Mr Wong would pay by
credit card, at which
restaurant should they have
the lunch buffet so as to pay

less? (Give the answer only)

Delicious [2 marks]
At Delicious Restaurant, they should pay:
(220—25)x4 = $780,

which is less than $798 that should pay at Sunn)

(a) ‘&?%%_ii-— i ’LH.]’%;E% ;

PR EAER o B A R

S IR [4 » ]
228x3+228+2

=798
Wi A E 8798 o

(b) -&r%-‘;}iii %—g IV + 4
¥ oH PR AT - TR R
R B E R AT RS9

(FABDNEE) A
ERT3
BEAERR B PAH

(220—25)x4 = $780 -
Wb kR BT 8798 b e

Restaurant.

21



34. Amy used 16 equilateral
triangles of the same size to form
the shapes in Figure 1 and 2.

3. T3 ¥ 1634 ApkenE gz
£ X B~ & Bl A

Figure 1 Figure 2
®l- ] = \VARRAVARRAY/
(a) If the perimeter of Figure 2 is (@) 4o% Bl % Bl Bl - %
24cm shorter than that of Figure R@e24cm Bl=- % K E S
1, what is the perimeter of e [4 4]
- 24+(12—8)x8
Figure 2? [4 marks] _ a8
24+(12*8)><8 Bl= % B & 48cm o
=48
The perimeter of Figure 2 is 48cm. e i
(b) If the Figure 2 is changed into a (b) 4% d Bl= e i & - B if
quadrilateral, what kind of A0 T E Ve A7
quadrilateral should be obtained? (FEBIER) [2 ~]
(Give the answer only) tre g
Parallelogram [2 marks] \/\/\/\
D Exit
s 4
4'_> N
Entrance| A B
~|T
35. The above is the floor plan of the |35, + Bl & % 8 £ & T 5 [ o
food carnival. Miss Leung ran a BopEHaE dk AR
snack shop in the area B. B -

22



35. (a) Area C i1s in the south of the

Exit. What is the direction of
Miss Leung’s snack shop from
the Exit? (Give the answer

only) [2 marks]

southeast

(b) Miss Leung put 80kg of nuts

in her snack shop for sale.

5
There were 24§kg of cashews

7
and 33§kg of pistachios. The

rest were almonds. How many
kilograms of almonds were
there in Miss Leung’s snack

shop? [4 marks]

5
80*248 —33 ]

)

1
There were 21757kg of almonds in Miss Leung’s si

(¢) During the food carnival,

7
Miss Leung sold 54Ekg of

9
dried beef, 36ﬁkg of dried

3
pork and 771—0kg of preserved

fruit. What 1s the difference in
weight between dried meat and

preserved fruit sold? [4 marks]

4L+ 3602 — 77
10 7370~ 10
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nack shop.

(c)
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The difference is l4ﬁkg.
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of umbrellas in a convenience
store from January to May.

(a) How many umbrellas were

(b) The convenience store

The income of umbrellas in April was: 29x75 = $2175,

Sales of Umbrellas in a Convenience Store from January to May

sold in the first quarter? (Give

the answer only)  [2 marks]

255
80+80+95 =255

adjusted the price of each
umbrella from $29 to $33 in
May. The manager believed
that the income by selling
umbrellas in May would be
decreased when compared with
that in April. Do you agree with
him? Explain. [4 marks]
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33x70 =$2310 »

2310> 2175
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The income of umbrellas in May was: 33x70 = $2310

2310> 2175

End of Test Paper
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